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1. (A) …ÛÜ¬ÛÙïõ ¸ÛýÛÛÙÈÛÁõ¨Û¶ÛÛé ¸ÛÛýÛÛ¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛà, ©Ûé¶ÛÛ ¾Ûä”ýÛ –Û¤øïõÛé ˜Û˜ÛÛë. 6 
  Explain the basic concept of economic environment and discuss its main elements. 

      …¬ÛÈÛÛ/OR 
  ÁõÛ›÷ïõàýÛ ¸ÛýÛÛÙÈÛÁõ¨Û¶Ûà µÛ×µÛÛïõàýÛ ¸ÛóÜ’õýÛÛ ¸ÛÁõ¶Ûà …ÍÛÁõÛé ÜÈÛÍ©ÛÛÁõ¸ÛæÈÛÙïõ ÍÛ¾Û›ÛÈÛÛé. 
  Explain in detail how the political environment affects business operations.  

 (B) µÛ×µÛÛïõàýÛ ¸ÛýÛÛÙÈÛÁõ¨Û¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ ¸ÛÜÁõ¼ÛÇÛé ¤æ×øïõ¾ÛÛ× ˜Û˜ÛÛë. 4 

  Briefly discuss the factors affecting business environment. 

      …¬ÛÈÛÛ/OR 
  ÍÛÛ¾ÛÛÜ›÷ïõ ¸ÛýÛÛÙÈÛÁõ¨Û¶Ûà ÈÛȩ́ ÛÛÁõ …¶Ûé µÛ×µÛÛ ¸ÛÁõ¶Ûà …ÍÛÁõ (¸Ûó½ÛÛÈÛ) ›÷¨ÛÛÈÛÛé. 
  State the impact of social environment on trade and business. 

 (C) ÍÛÛ×ÍïèõÜ©Ûïõ ¸ÛýÛÛÙÈÛÁõ¨Û¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé. 4 

  Explain the concept of cultural environment. 

     …¬ÛÈÛÛ/OR 
  ¾Ûæ¦øà ÐüÍ©ÛÛ×©ÛÁõ¨Û ¶ÛàÜ©Û ÜÈÛÉÛé ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 
  Write a short note on capital transfer policy.  

 

2. (A) ¤ñøïõ¶ÛÛéÅÛÛñœ÷ …é¤øÅÛé ÉÛä× ? ”Ûé©Ûà“ÛéªÛ …¶Ûé ÍÛéÈÛÛ“ÛéªÛ ¸ÛÁõ ©Ûé¶Ûà …ÍÛÁõÛé ÍÛ¾Û›ÛÈÛÛé. 6 
  What is technology ? Explain its impact on agriculture and service sector. 

…¬ÛÈÛÛ/OR 
  ½ÛÛÁõ©Û¾ÛÛ× •Ûóà¶Û ¦øÛñ¤øÍÛ …¶Ûé ¼ÛóÛŠ¶Û ¦øÛñ¤øÍÛ¶Ûà ¶ÛàÜ©Û ÍÛÜÈÛÍ©ÛÛÁõ ÍÛ¾Û›ÛÈÛÛé. 
  Explain in detail the policy of Green Dots and Brown Dots in India.  

 (B) ½ÛÛÁõ©Û ÍÛÁõïõÛÁõ¶Ûà ÁõÛéïõÛ¨Û¶ÛàÜ©Û ÜÈÛÉÛé ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 4 
  Write a short note on the investment policy of the Government of India. 

…¬ÛÈÛÛ/OR 
  …ÛýÛÛ©Û ŠþùÛÁõàïõÁõ¨Û¶ÛÛ ”ýÛÛÅÛ ÜÈÛÉÛé ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 
  Write a short note on the concept of import liberalization. 

 (C) ½ÛÛÁõ©Û¾ÛÛ× SEZ (ÜÈÛÜÉÛÌ¤ø …ÛÜ¬ÛÙïõ ÜÈÛÍ©ÛÛÁõ)¶Ûà ¸Ûó•ÛÜ©Û þùÉÛÛÙÈÛÛé. 4 
  Indicate the progress of Special Economic Zones (SEZ) in India. 

               …¬ÛÈÛÛ/OR 
  ÜÈÛÊÈÛÈÛȩ́ ÛÛÁõ ÍÛ×•Û¥ø¶Û (WTO)¶ÛÛ Š°éùÉÛÛé ÈÛ¨ÛÙÈÛÛé. 
  Describe the objectives of WTO (World Trade Organization). 
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3. (A) ½ÛÛÁõ©Û¶Ûà 2009-2014¶Ûà ÜÈÛþéùÉÛ ÈÛȩ́ ÛÛÁõ ¶ÛàÜ©Û¶Ûà ¶ÛÛêµÛ¸ÛÛªÛ ÍÛ¾Ûà“ÛÛ ïõÁõÛé. 6 
  Critically evaluate India’s foreign trade policy for the period 2009-2014. 

…¬ÛÈÛÛ/OR 

  ÜÈÛÊÈÛ¼Ûêïõ¶ÛÛ Š°éùÉÛÛé …¶Ûé ïõÛ¾Û•ÛàÁõà ÍÛ¾Û›ÛÈÛÛé. …Û Š°éùÉÛÛé ÜÍÛ±ù ïõÁõÈÛÛ¾ÛÛ× ïéõ¤øÅÛé …×ÉÛé ÍÛºõÇ©ÛÛ 
¾ÛÇà ™öé ?  

  Explain the objectives and working of the World Bank. How far it has succeed in 

achieving its objectives ?  

 (B) …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ¶ÛÛ¨ÛÛ×½Û×¦øÛéÇ (IMF)¶Ûà ÜÍÛÜ±ù…Ûé ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé. 4 
  Briefly explain the achievements of International Monetary Fund (IMF). 

…¬ÛÈÛÛ/OR 

  ½ÛÛÁõ©ÛàýÛ ”Ûé©Ûà“ÛéªÛ¶Ûà Š©¸ÛÛþùïõ©ÛÛ ÈÛµÛÛÁõÈÛÛ ¾ÛÛ¤éø¶ÛÛ ¶ÛàÜ©ÛÜÈÛÌÛýÛïõ Š¸ÛÛýÛÛé ÍÛæ̃ ÛÈÛÛé. 
  Suggest policy measures to improve the productivity of Indian agriculture. 

 (C) ÅÛ–Ûä …¶Ûé •ÛèÐüŠ²Ûé•ÛÛé ¸ÛÁõ ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 4 
  Write a short note on small scale and home industry. 

     …¬ÛÈÛÛ/OR 

  ïõÛñ¾¸Ûà¤øàÉÛ¶Û …ñî¤ø¶ÛÛ Š°éùÉÛÛé ¤æ×øïõ¾ÛÛ× ÈÛ¨ÛÙÈÛÛé. 
  Briefly explain the objectives of Competition Act.   

   

4. (A) M.R.T.P. …ñî¤¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ˆ›ÛÁõÛ©¾Ûïõ, …ÈÛÁõÛéµÛÛ©¾Ûïõ, •ÛéÁõÈýÛÛ›÷¼Ûà Áõà©ÛÁõÍÛ¾ÛÛé¶ÛÛé …¬ÛÙ 
¤øàïõÛ©¾Ûïõ ÍÛ¾Û›ÛÈÛÛé.ø 6 

  Critically evaluate the M.R.T.P. Act in reference to the monopolistic, restrictive 

trade practices and unfair trade practices.  

…¬ÛÈÛÛ/OR 

  ½ÛÛÁõ©Û¾ÛÛ× 1991¶Ûà …Ûíé²ÛéÜ•Ûïõ ¶ÛàÜ©Û¶Ûà ÍÛ¾Ûà“ÛÛ ïõÁõÛé. 
  Evaluate the Industrial Policy in India in 1991.  

 (B) ½ÛÛÁõ©Û¾ÛÛ× ËÛ¾Û¶ÛàÜ©Û ¸ÛÁõ ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 4 
  Write a short note on Labour Policy in India. 

     …¬ÛÈÛÛ/OR 

  ½ÛÛÁõ©Û¾ÛÛ× ¸ÛýÛÛÙÈÛÁõ¨Û ¶ÛàÜ©Û¶ÛÛ Š°éùÉÛÛé ˜Û˜ÛÛë. 
  Discuss the objectives of environment policy in India. 

 (C) ¾ÛÛ¶ÛÈÛ ÍÛ×ÍÛÛµÛ¶Û ÜÈÛïõÛÍÛ (HRD) ¶ÛÛ ”ýÛÛÅÛ¶Ûä× ¾ÛÐü«ÈÛ ›÷¨ÛÛÈÛÛé. 4 
  Show the importance of the concept of Human Resource Development (HRD). 

…¬ÛÈÛÛ/OR 

  ÍÈÛíéÜ˜™öïõ Ü¶ÛÈÛèÜ«Û ýÛÛé›÷¶ÛÛ (VRS) …¶Ûé ÁõÛÌ¤ÖøàýÛ ¸ÛäÁõÍïõÛÁõ ½Û×¦øÛéÇ (NRF) Ü¶Û•ÛÙ¾Û¶Û ¶ÛàÜ©Û¶ÛÛ 
ÍÛ×þù½ÛÙ¾ÛÛ× Í¸ÛÌ¤ø ïõÁõÛé.   

  Clarify VRS (Voluntary Retirement Scheme) and NRF (National Renewal Fund) in 

reference to exit policy. 
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5. ¼ÛÐäüÜÈÛïõÅ¸Û ¸ÛóÊ¶ÛÛé :  14 

 Multiple Choice Questions : 

 (1) ÜÈÛßÛÛ¶Û, ¤ñøî¶ÛÛéÅÛÛñœ÷ …¶Ûé ¶ÛÈÛà ÉÛÛéµÛ”ÛÛéÇÛé¶Ûà …×Ü©Û¾Û (latest) ¶ÛàÜ©Û ›ÛÐéüÁõ …Û ÈÛÌÛÙ¾ÛÛ× ïõÁõÈÛÛ¾ÛÛ× 
…ÛÈÛà. 

  The latest policy on science, technology and innovation was announced in the year 

  (a) 1991 (b) 1996 

  (c) 2002 (d) 2013 

 (2) ïõýÛÛ ÁõÛéïõÛ¨ÛÛé¶Ûé ‘¸ÛÛé¤ÙøºõÛéÜÅÛýÛÛé ÁõÛéïõÛ¨Û’ ©ÛÁõàïéõ …ÛéÇ”ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 
  Which investments are known as ‘Portfolio investment’ ? 

  (a) FDI (b) NRI 

  (c) IBRD (d) FII 

 (3) ½ÛÛÁõ©Û¾ÛÛ× ‘•Ûóà¶Û¦øÛñ¤øÍÛ’ ïéõÈÛÛ ”ÛÛ² ¸ÛþùÛ¬ÛÛë¶ÛÛé Ü¶ÛþëùÉÛ ïõÁéõ ™öé ? 
  (a) ÉÛÛïõÛÐüÛÁõà (b) ¾ÛÛ×ÍÛÛÐüÛÁõà 
  (c) Š¸ÛÁõ¶ÛÛ ¼Û×¶Ûé (both) (d) Š¸ÛÁõ¶Ûä× …éïõ¸Û¨Û ¶ÛÜÐü 
  Which type of food products are indicated by the ‘Green Dots’ in India ? 

  (a) Vegetarian (b) Non-vegetarian 

  (c) Both of the above (d) None of the above 

 (4) ½ÛÛÁõ©Û¾ÛÛ× MRTP Act îýÛÛÁéõ ›ÛÐéüÁõ ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛÛé ? 
  When was MRTP Act introduced in India ? 

  (a) 1949 (b) 1951 

  (c) 1969 (d) 1991 

 (5) ½ÛÛÁõ©ÛàýÛ ÄõÜ¸ÛýÛÛ¶Ûä× ›ä÷ÅÛÛˆ-1991¾ÛÛ× …ÈÛ¾ÛæÅýÛ¶Û (devaluation) _______ ¬ÛýÛä×. 
  (a) ¸Ûó¬Û¾Û ©Û¼Û‘éõ (b) ¼Ûà›Û ©Û¼Û‘éõ 
  (c) ªÛà›Û ©Û¼Û‘éõ (d) ˜ÛÛé¬ÛÛ ©Û¼Û‘éõ 
  Indian rupee was devalued in July 1991 : 

  (a) First stage (b) Second stage 

  (c) Third stage (d) Fourth stage 

 (6) …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ¶ÛÛ¨ÛÛ×½Û×¦øÛéÇ (IMF) ¶Ûà Í¬ÛÛ¸Û¶ÛÛ …Û ÈÛÌÛÙ¾ÛÛ× ¬Ûˆ. 
  The International Monetary Fund (IMF) was established in the year  

  (a) 1942 (b) 1946 

  (c) 1950 (d) 1956 

 (7) ïõýÛÛ ÈÛÌÛÙ¾ÛÛ× ïõÛé¾¸Ûà¤øàÉÛ¶Û …ñî¤ ¸ÛÍÛÛÁõ ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛÛé ? 
  In which year the Competition Act was passed ? 

  (a) 1985 (b) 1991 

  (c) 1995 (d) 2002 

 (8) ¾ÛÛ¶ÛÈÛ ÍÛ×ÍÛÛµÛ¶Û ÜÈÛïõÛÍÛ (HRD) ¶ÛÛ ÁõÛéïõÛ¨Û (Investment)¶ÛÛé ÉÛé¾ÛÛ× ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé ? 
  (a) ÍÈÛÛÍ¬ýÛ (b) ÜÉÛ“Û¨Û 
  (c) ïõÛíéÉÛÅýÛ (d) Š¸ÛÁõ¶ÛÛ ªÛ¨ÛéýÛ 
  Human Resource Development (HRD) involves investment in 

  (a) Health (b) Education 

  (c) Skill (d) All the three above 
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 (9) ‘•Ûóà¶Û ÐüÛŠÍÛ’¶Ûà …ÍÛÁõ …é¤øÅÛé ÉÛä× ? 
  (a) ÈÛ¶ÛàïõÁõ¨Û¶Ûà ÐüïõÛÁõÛ©¾Ûïõ …ÍÛÁõ  

  (b) ÐüÜÁõýÛÛÇà ’õÛ×Ü©Û¶Ûà ”Ûé©Ûà“ÛéªÛ¾ÛÛ× …ÍÛÁõ 
  (c) ïõÛ¼ÛÙ¶Û ¦øÛýÛÛñîÍÛÛˆ¦ø, Ü¾Û¬Ûñ¶Û, ¶ÛÛˆ¤ÖøÍÛ …ÛñîÍÛÛˆ¦ø ÈÛÛýÛä¶ÛÛ ÍÛ›÷Ù¶Û¶Ûé ÅÛàµÛé ¸ÛóÛïèõÜ©Ûïõ ïõ“ÛÛ…é 

©ÛÛ¸Û¾ÛÛ¶Û ¸ÛÁõ ¬Û©Ûà …ÍÛÁõ 
  (d) Š¸ÛÁõ¶Ûä× …éïõ¸Û¨Û ¶ÛÜÐü 
  What is the effect of ‘Green House’ ? 

  (a) Positive impact of afforestation 

  (b) Effect of green revolution in the agricultural sector 

  (c) The warming effect created by the natural level of gases like carbon dioxide, 

methane, nitrous oxide 

  (d) None of the above 

 (10) ½ÛÛÁõ©Û ÍÛÁõïõÛÁõ ³ùÛÁõÛ ÁõÛÌ¤ÖøàýÛ ïèõÜÌÛ ¶ÛàÜ©Û¶Ûà ›ÛÐéüÁõÛ©Û îýÛÛÁéõ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛà ? 
  When the policy of national agriculture was announced by the Government of India ? 

  (a) 2000 (b) 2001 

  (c) 2002 (d) 2003 

 (11) …×Ü©Û¾Û (latest) ÜÈÛþéùÉÛà ¾Ûæ¦øàÁõÛéïõÛ¨Û¶Ûà ¶ÛàÜ©Û …Û ÍÛ¾ÛýÛ•ÛÛÇÛ¾ÛÛ× …ÛÈÛÁõà ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛà. 
  The latest existing Foreign Trade Policy covers the period  

  (a) 2006-2011 (b) 2007-2012 

  (c) 2008-2013 (d) 2009-2014 

 (12) SEZ (ÍÛé¡ö) ¶ÛàÜ©Û ïõýÛÛ ÈÛÌÛÙ¾ÛÛ× ›ÛÐéüÁõ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛà ? 
  (a) …éÜ¸ÛóÅÛ, 1997 (b) …éÜ¸ÛóÅÛ, 2000 

  (c) …éÜ¸ÛóÅÛ, 2002 (d) …éÜ¸ÛóÅÛ, 2004 
  In which year the SEZ policy was announced ? 

  (a) April, 1997 (b) April, 2000 

  (c) April, 2002 (d) April, 2004 

 (13) ½ÛÛÁõ©Û¾ÛÛ× ¶ÛÈÛà …Ûíé²ÛéÜ•Ûïõ ¶ÛàÜ©Û îýÛÛÁéõ ›ÛÐéüÁõ ¬Ûˆ ? 
  When the new industrial policy was declared in India ? 

  (a) 1985 (b) 1988 

  (c) 1990 (d) 1991 

 (14) ïõýÛÛ ÍÈÛÄõ¸Û¶Ûä× …¬ÛÙ©Û×ªÛ ÈÛȩ́ ÛÛÁõ …¶Ûé µÛ×µÛÛ¶Ûà ¸ÛóÜ’õýÛÛ ¾Ûäî©Û¸Û¨Ûé (freely) ïõÁéõ ™öé ? 
  (a) Ü¾ÛËÛ …¬ÛÙ©Û×ªÛ (b) ¾Ûæ¦øàÈÛÛþùà …¬ÛÙ©Û×ªÛ 
  (c) ÍÛ¾ÛÛ›÷ÈÛÛþùà …¬ÛÙ©Û×ªÛ (d) Š¸ÛÁõ¶ÛÛ ©Û¾ÛÛ¾Û ªÛ¨ÛéýÛ 
  In which form of economy trade business are allowed to operate freely ? 

  (a) Mixed economy (b) Capitalist economy 

  (c) Socialist economy (d) All the three above  

 

___________ 


